Uttar Pradesh

Power Gorporation Limited

[Participant ID 190382600503

Participant Name HARISHCHANDRA SAHU

Test Center Name iON Digital Zone iDZ Keshaw Puram
Test Date 25/01/2019

Test Time 9:00 AM - 12:00 PM

Subject Technical Grade

Section : Computer Knowledge

Q.1 What is the maximum number of columns that a table can have in Microsoft Word 2016 document?

Ans X 1. 83
v 2 63
X 3 56
X 4 36

Question ID : 719399777
Status : Answered
Chosen Option : 3

Q2 form # & Fi7 & deas ST T TG FHEGL TaT B § o I FIE WY 2 w0 87
Ans X 1. Bus
X 2. Ring
v : Star
X 4 Mesh

Question ID : 719399788
Status : Answered
Chosen Option : 2

Q3 7z gaw & 5T g @F § O Tl

(i) 7FTe T 38 T F9 ¢ AR ST ASHATE GENT Ferdr S gl
(i) BT v 37 T S99 & o e T ¥ 3R ATsRTTe gERT e A g

e X0 G) - =@ () - w@
X2 (i) - w@, (i) - o
v 3 (i) - eI, (i) - T
X4 (i) - I, (i) - TR




Question ID : 719399793
Status : Answered
Chosen Option: 2

Q4 T & T w7 Ty Fua Tad 3E?

(i) 3MTFT EAST TS A ASA TATT F F G AT FBSAES J3E W Felh T TR0
(i) &A= ¥ Fewr &, BCC WarwarT Black Carbon Copy 2T ¥

K G) R () e
X 2 et (i)
o 5 Fae (i)
X 4 s ar (i) 7 &r (i)

Question ID : 719399795
Status : Answered
Chosen Option : 2

@5 By default, text data is aligned in Microsoft Excel.
Ans x 1. I”ight

/< 2. top
/< 3. centre

4 left

Question ID : 719399781
Status : Not Answered
Chosen Option : --

¥ D@ TEEETe THT BaRIA FT AT 4T g2

=MAX(1, 8>12, 10)
Ans 1.1

X28

v': 10

X412

Question ID : 719399783
Status : Not Answered
Chosen Option : --

Q.7 Triple-clicking anywhere in a paragraph of a Microsoft Word document will select the whole:

Ans 1. word

/< 2. sentence
/< 3. document

« 4 paragraph




Question ID : 719399773
Status : Answered
Chosen Option : 4

Q.8 X PrFseey 570 W B 39 & AT JoR ase §17 &1 FA9T T B
Ans ?(1- gh_m

v 2 ST

X g

X 4 careT

Question ID : 719399755
Status : Answered
Chosen Option : 2

Q.9 3T ¥ TF ASHETE WL TEE TS F ATA FIF TAES [OWT (5T T8 e w7 oaw
FL, ar Fm geEm?

MK TomsE TR & g STeEl
2
TS 30 WAY Yhe A1 gl ofa AT TEGr & W
X . ToTSS, TESS W oF A R AL &=
X 4 ToISS HUEH & SR Fehe #gT 2l

Question ID : 719399799
Status : Answered
Chosen Option : 2

% Windows TierRrera & ®aw #, OLE &1 q07T & &4 82
Ans o1 Object Linking and Embedding

/< 2. Object Linking and Embarking

< 3. Online Linking and Embedding

/< 4 Online Linking and Embarking

Question ID : 719399766
Status : Not Answered
Chosen Option : --

01-1 ATEHETRE 95 2016 &, TF g # waftFee AN gmitFe Feed g9 3 &

Ans x_la ,E‘I?:r
X 2 w; BemEa
{3‘5?;:7;@?




X 4 B, BT

Question ID : 719399775
Status : Answered
Chosen Option: 2

Q.1 Which of the following holds data and programs NOT currently in use and provides long-term random-access storage?
2

Ans X 1. Primary memory

X 2 SRAM
+ 3. Secondary memory
X 4 SDRAM
Question ID : 719399753
Status : Not Answered
Chosen Option : --
Q; ASHIETFE THFES 2016 3TTE FHiSe & AT Bwee w9 O THFHE TR FHBT TEaT gl
Ans 1. xls
X 2. xlpx

V'3 xlsx
X 4 xlm

Question ID : 719399779
Status : Answered
Chosen Option: 1

Q.1 When a Windows application is minimised, it appears as a small icon on the of the Windows operating system.
4
Ans o 1. taskbar
X 2 title bar

/< 3. scrollbar
/< 4 menu bar

Question ID : 719399768
Status : Answered
Chosen Option : 1

Q.1 In Microsoft Excel, which of the following options returns the logarithm of a number to the base you specify?
5

Ans x 1. LE.N()
v 2 LOG()

X 3. LN()
X 4 LOG10()

Question ID : 719399787
Status : Answered




l Chosen Option : 2

Q.1 5 319 Windows # Wise U7 STS{wE 3Mseh= &I 90 B & AW Rive Fwr Bdie somt #1 veary
6z § & mm gnm?

A X wEe o ST Ruwed R F = smeEt

X 2
WIgeT AT 3133 My Documents WIesT H et STwaft)

X 3 W TT STEFET TIg Blest H Tell ST

v o
I FET A ITEFE F FARN T W FE qES € A AE, 5F A F I == F Bw v v
aieg Jehe BT
Question ID : 719399770
Status : Answered
Chosen Option : 4
Q.1 The ability to do error-free calculations represents the characteristic of a computer.
7
Ans 1. no IQ
/< 2. speed

« 3. accuracy

/< 4. scalability

Question ID : 719399752
Status : Not Answered
Chosen Option : --

Q.1 At the receiving end, the encrypted data needs to be to make it easily readable by the users.
8

Ans % 1. augmented
/< 2. encapsulated

« 3. decrvpted
#< 4 demodulated

Question ID : 719399760
Status : Not Answered
Chosen Option : --

0‘51 o § O 9 avd wua T 2187

(i) FEREFE I5 F Wiec' FaE AFE Tield & o7T HEE eieshe Cir+D §l
(ii) ATSHIETFE 9% SEAES #F WEATE H Aeg WA w1 & O S aidee Ciri+E §

e ar (i) 7 & (i)
X2 Faa (i)
X 3 Faer (ii)




K4 (i) 3R (i) =t

Question ID : 719399776
Status : Not Answered
Chosen Option : --

@2 Which of the following is NOT a presentation software?

Ans 1. Slideshark
/< 2. OpenOffice Impress

/< 3. Microsoft PowerPoint
' 4 Microsoft Access

Question ID : 719399797
Status : Answered
Chosen Option : 4

Q.2 R # & 37 TEgieor & BT W FFAE FH  FF S0 S FEA F AN T @ TGS F 82
1

Ans X 1. ASCII-7
X 2 EBCDIC
v 3 BCD
X 4 ASCII-8

Question ID : 719399762
Status : Answered
Chosen Option : 2

Q.2 (Collection of consecutive cells either from left to right or from top to bottom or both is called:
2

Ans 1. Notification area
/< 2. Table
« 3. Cell range

/< 4 Formula

Question ID : 719399782
Status : Answered
Chosen Option : 3

Q.2 Which of the following is used in Microsoft Word to quickly apply the same formatting, such as color, font style and
3 size to multiple pieces of text?

Ans X 1. Clipboard
/< 2. Drop cap
#< 3. Cross reference

« 4 Format painter

Question ID : 719399774
Status : Answered




l Chosen Option : 1

Qf Which of the following is a graphical web browser developed by Apple?

Ans o 1. Safari
& 2. Firefox
/< 3. Chrome
/< 4 Edge

Question ID : 719399791
Status : Answered
Chosen Option: 1

Qéz The internet is also called a packet-switched network because it uses:

Ans  of 1. TCP/IP
X 2. SMTP
< 3. HTTP
X 4 HTTPS

Question ID : 719399789
Status : Answered
Chosen Option: 1

Q.2 v v AESIETe TN Gale @ gHefie & ¥ # glaee T I ar O Reedt F Ay i A
6 @ welia g

=MIN(3, 1255, 4)

Ans x 1.3
v 1
X34
X45

Question ID : 719399784
Status : Not Answered
Chosen Option : --

Q.2 frrm # ¥ Fia @ e USB wler Aoy Rarsw § B v e @ g@y # 2o aiafE wa ¥ R
7 v fm o WA B2

e X wardr REE
< 2. DVD
X3 CD
V-

Question ID : 719399756
Status : Answered
Chosen Option : 4

Q.2




X 2 gor REs
X 3 gler e

X 4 301 A =Ea (colons)

8 & v & &9 ga ¥ N F UF WY 8F TS §, 375 e oA AR 3T Fh

A 1 3eaRRTE RET (commas)

Question ID : 719399794
Status : Not Answered
Chosen Option : --

Ans 1. 01001111
<2 01101111
# 301011110
v 4 01001110

%2 gfe M # ASCIl 1= 01001101 &, & N & ASCIl = 1 gem?

Question ID : 719399761
Status : Not Answered
Chosen Option : --

0 insertion.

Ans X 1. embedding; linking
« 2 linking; embedding
/< 3. embarking: learning
/< 4. linking; embarking

Q.3 With respect to OLE, establishes a connection between two objects. and

facilitates application data

Question ID : 719399767
Status : Not Answered
Chosen Option : --

Q.3 In Microsoft Excel, data is entered into
1

Ans X 1. Headers
& 2. Footers
< 3. Text boxes
W 4 Cells

which form a grid of rows and columns.

Question ID : 719399778
Status : Answered
Chosen Option : 4

Q.3




fo=T ASFHIEYe TFAe BFF FT FAT AT g’

=POWER(2, 10)
Ans X120
X 2 #NAME?
#3100
v 41024

Question ID : 719399786
Status : Not Answered
Chosen Option : --

Q§3 e & o 7 TS Fue w9

(i) Linux gomelr &, file.txt 3 ‘FILE.txt' ¥ FeI9T-3761T BIge ATH ATAT ST
(i) Windows woumelr &, file.txt’ 3T ‘FILEtxt' FT T WgaT ATH AAT AT

v o1 () 3 (i) g
X2 aar (i) = & (i)
X 3 Faer (i)
X 4 e (i)

Question ID : 719399769
Status : Answered
Chosen Option : 4

Q.3 In Microsoft PowerPoint, which of the following does NOT appear in the *Clipboard’ group of the “Home" tab?
4

Ans 1. Copy
/< 2. Paste
' 3 New Slide

/< 4 Format Painter

Question ID : 719399798
Status : Not Answered
Chosen Option : --

Q.3 Which of the following statements is/are FALSE?
5

(i) Incomparison to primary memory. secondary memory has limited storage capacity.
(ii) DRAM is slower than SRAM.

Ans 1. Neither (i) nor (ii)
X 2. Both (i) and (ii)
W 3 Only (i)
/< 4 Only (ii)




Question ID : 719399754
Status : Not Answered
Chosen Option : --

Q.3 : e . :
. Which of the following is NOT a word processing software?
Ans % 1. OpenOffice Writer

/< 2. Microsoft Word
« 3. OpenOffice Impress

X 4 WordPad

Question ID : 719399771
Status : Answered
Chosen Option : 4

Q.3 is a program that is running.

Ans 1. Information
/< 2. Knowledge

\, 3. Process
/X 4. Data

Question ID : 719399765
Status : Answered
Chosen Option : 3

@3 Which of the following is NOT a valid function in Microsoft Excel?
Ans o 1. MINIMUMY()

/< 2. MINUTE()

X 3. MAXA()

54 MINA()

Question ID : 719399785
Status : Not Answered
Chosen Option : --

Qé3 HTeToseT Ty SES g7 Tee Hew ThgEY # #% HRY 9 3 T § 39 FET ST
e XK grfERer

v e

X 3 ERe

X4 enfEeT

Question ID : 719399796
Status : Answered
Chosen Option : 2




Q4 B & ¥ FiF @/F Fua o 237
0

(i) CD-R s geiaw fBTF ¢ 3 v ¥ Pis v o1 &t e ik 7w 81 =1 5% o s &y
AT & F
(i) CD-RW # RW 3Tl & ¥ “read and write” &1

A1) 3R (i) T
X 2 Fae (i)
X3 ar @) T e (i)
X 4 Faer (i)

Question ID : 719399757
Status : Answered
Chosen Option : 4

Q1~4 77 FaT F e a5 ¥ 91 el

() 3e7ic i 1 Hafied &30 A U3eX A6 s{HaT #d &l
(i) Afed 2o Avae & 7g9 § 3t a0 9 & T=9R & S 3= FEeX g @ I £

e XK (i) - @, (i) - T
X 2 (i) - 3er, (i) - I T
Vo (i) - w@ (i) - T
X4 (i) - 7T, (i) - TE

Question ID : 719399790
Status : Not Answered
Chosen Option : --

Q.4 gy F TaES o NS o & v, =R #r ST WY AN a9/ FoSE ¥ FoOISS or H
2 e v ¥ e ofeT W o TR

At 1. F5; Shift+F5
X 2 F4; Shift+F4
X s Shift+F4; F4
X « Shift+F5; F5

Question ID : 719399800
Status : Answered
Chosen Option : 1

Qé4 Foaex wuTen Y Rfde 9 e F [ 3nfve Sew v 2w & @ # G AW g S A 2

MK TS
X 2 gTEIIR
v 5 FTFEaIT




X 4 grEET

Question ID : 719399758
Status : Answered
Chosen Option : 3

044 The file created in Microsoft Excel is called

Ans 1. Worksheet
v 2 Workbook

/< 3. Database
X 4 Grid
Question ID : 719399780
Status : Answered
Chosen Option : 1
Q4 N F FUR ATHWGE Tl FH TART I Fhad T 71w o

5

Ans X1~ qg?'rn_
X2 gEyd
Vo ey
X o ety

Question ID : 719399751
Status : Answered
Chosen Option: 3

Q.4 Alan is a complex software responsible for managing hardware resources and functioning of the computer

6 system.

Ans  f 1. operating system

/5 2. compression software

/< 3. word processor

/< 4 utility software

Question ID : 719399764
Status : Answered
Chosen Option : 4

U v v Bt F ¥ FF o Bww P

Ans xl ﬁ'l ﬂé
v 2 TéEmmE
X o yemata

X 4 HIZH




Question ID : 719399759
Status : Answered
Chosen Option: 2

Qé4 The world’s first web browser was named and developed by

Ans X 1. Gopher: Tim Berners-Iee
/< 2. Gopher: Bill Gates
< 3. World Wide Web; Bill Gates
' 4 World Wide Web; Tim Berners-Lee

Question ID : 719399792
Status : Answered
Chosen Option : 4

Q.4 For a given number (e.g. 14), which of the following number systems will use the least number of digits (or symbols)
9 for its representation?

Ans 1. Decimal
/< 2. Binary
v 3. Hexadecimal
& 4 Octal

Question ID : 719399763
Status : Answered
Chosen Option: 1

065 ‘Which of the following CANNOT be used to open a Microsoft Word document?
Ans 1. Double-click the file icon

/< 2. Right-click the file icon and select *open’

/< 3. Select the file icon and press Enter key

« 4 Simply click the file icon

Question ID : 719399772
Status : Answered
Chosen Option : 4

Section : General Reasoning

Q1 o & & 97 Rwew o9 S & A9y oeg ¥ 30 o wEEfRE O B g@y ue wge e @
Trafaa gl

LOGIC : BHFNK :: CLERK : ?
Ans X 1. QBKJA
v 2 JQDKB
X 3 XVRPA
X 4 LPRTU




Question ID : 719399806
Status : Answered
Chosen Option: 2

Q2 v aafea v Bg & R & 2 km 3o # AR T9ar & B @ 3R gEeE 2 km Fear 8 3R
&7 &8 3 A5ar ¥ 3R o T € 9w ow W R A w2

A X1 ofver
X2 g8

v 3 o
X 4 FeaT

Question ID : 719399815
Status : Answered
Chosen Option : 3

Q3 fem & & 3¢ Few g9 S dad @ & 5@ TR @ wed § O TR @ qud gwar gge dwar
T wafe &

255 : 16 : 288 : ?

Ans X115
X219
v 17
X 4 21

Question ID : 719399810
Status : Answered
Chosen Option: 3

(1) (2) (3) (a)

Question ID : 719399820
Status : Answered
Chosen Option: 3

Q.5 v o Reredt & & 30 e # g A A T A =g F e § T A T @ F oS
éﬁﬁmﬁﬁmﬁaﬂmm%mmmmmﬁmmaﬁﬁgmgﬂ

GUIDANCE

Ans X 1. GAINED




X 2 DANCE
+ 3 CANNED
X 2 NUDGE

Question ID : 719399814
Status : Answered
Chosen Option : 3

Q.6 ;@a,msﬁrﬁmwwﬁﬁﬁaﬁrmgﬁm%mmmﬁ?ﬁ%mmgﬁmﬁ
7 frear &7

Ans x.l_ ﬁ?—l'l'
X2 o

W 5 =mET
X 4 TRRT 4TS

Question ID : 719399804
Status : Answered
Chosen Option : 3

7 g e H TUT ST S 3T A9 ¥ BT T
Ans 1. NRVZ

v 2 PTWZ

< 3 JNRV

/< 4 DHLP

Question ID : 719399802
Status : Answered
Chosen Option : 2

Q8 G & ¥ 7 @ 3T 3T T F Ty g9y B @ &7 ¥ el war 2




x (OO

Question ID : 719399819
Status : Answered
Chosen Option : 2

QI K LMIRN SRR GFaFF T FmR B LETT T I3 M N

F o #9371 §1 K 3 N vhg@y & o # a6 8% &) o & @ 9 o Fud s 2

A 1K L ¥ e 3R der B

X2 M, L % 53 g
X2 K N % FF9d 2

X4 M, K & ag 3T ¥aT &1

Question ID : 719399805
Status : Answered
Chosen Option : 1

U o & ¥ 37 weE-TE W eI A A O @ R S @ e

Ans X1 T ;O
v 2 FreT  wifes

X 3 ofygufeaar : ggamT

X 4 TeRrT - FAT

Question ID : 719399809
Status : Answered
Chosen Option : 2

1 oz 3 sifew 31 ar foran smoem?
Ans X' 1.3
X2 4
v 5
X4 2

Q.1 v gz amwr &, zfy MEND # M3ESN4D4 foram =i &, = 34 % smer F DARY ¥ fow oy =rw

Question ID : 719399808
Status : Answered
Chosen Option : 3

% e # ¥ 9 TR g9 S 3T A9 @ e B

Ans X 1.69 - 56
X295 - 82
X 3 55 - 42




v 48 - 34

Question ID : 719399807
Status : Answered
Chosen Option : 4

e K2 a8
X2 39 a§
v 37 af
X410 ¥

Q.1 s $r A v BEAT O ¢ TE o7 Y g Teh FEA H T 01| 3@ AN I F N E v
TET &7 O g7 & AT fhas o s&ier ST et

Question ID : 719399816
Status : Not Answered
Chosen Option : --

32, 53, 74, 95, 116, ?
Ars of 1137

X 2120

X 138

X+ 125

041 e v Rt # ¥ ¢ Feew g9 A T TE g & 0T & TF

Question ID : 719399803
Status : Answered
Chosen Option : 1

5 w3 3RS #F A cgatiyg B e
Ans x-l_ 2

v'2 6 71 3w

X3 4

X 45

Q.1 Fmr 749862135 F aw & F W EE SR v s nw sa S aw f e mmaa €

Question ID : 719399817
Status : Not Answered
Chosen Option : --

6 oot wm

CE, HJ, MO, RT, ?
ans K1 VW
X2 TU
<3 UW

Q1 o & v smen & % & OwH v 97w § R e feeedt & § 97 Reew 9 S smen &




Question ID : 719399811
Status : Answered
Chosen Option : 4

OV v ' & TE T § A He #T Her ¥ g
Ans g ET

X2 &

X o e

X 4 |bg

Question ID : 719399801
Status : Not Answered
Chosen Option : --

Ul s w iR R B I R ETTESRE A o sw e R a Ry sw i ok
8 R @ e 3w ¥ 98w waw A i B2

Ans xl 'I-'E'IBT
v 2 =T
X s

X g

Question ID : 719399812
Status : Answered
Chosen Option: 2

Q.1 fiw arv 7 THETol & @, TEer 2 Ue fafiree gumeT & auR WX g v aT §) 36 s 9T Sy
9 mie, W B B 7 L W T e wE A

4%x4=66x6=267x7=7?
Ans X1 36

X 2 46

X 3 49

V4 39

Question ID : 719399813
Status : Answered
Chosen Option : 4

Q.2




& TS AT F TAEE Ig AR HAT T AT A

50 42

S |

11

(1) (2) (3)

X
N
QL G W g

Question ID : 719399818
Status : Answered
Chosen Option : 3

Section : General Hindi

U sy F FF T gEw 22
Ans 2. aremrireTer

X 2 e

X egeE

o 4 TN

Question ID : 719399822
Status : Answered
Chosen Option : 4

Vo A @ TS B T ¥ g weg A W

Ane XK1 femRor
v 2 RERoT
X 3. FrEATeT
< 4 Feagor

Question ID : 719399831
Status : Answered
Chosen Option : 2

B F FF @ gar F gaigarr a8 2
Ans «1%1_




X2 gAY
PRI

fha

X 4 g3

Question ID : 719399829
Status : Answered
Chosen Option : 1

U e @ ReE g
Ans 2 1. FeRTRT
< 2 TR

X 5@

Question ID : 719399830
Status : Answered
Chosen Option : 1

o T A T uee A Y
Ans  of 1. STEOT
X2 3
X o e
X4 gag

Question ID : 719399824
Status : Not Answered
Chosen Option : --

W gemer F FT T T 7
Ans 1. Hel
Vo
X s He
Xaqg

Question ID : 719399827
Status : Answered
Chosen Option: 3

O @ Fr FeT seT & AT AWET F: IwT
AnS X 1. TR I STel el &Y TeREr ST
v 2 T Y FIE, THST AT P

X 3. 3T FI JTel Idd: TehsT AT &




X 4 gaT ¥ BT 9T Fger

Question ID : 719399834
Status : Answered
Chosen Option : 2

¥ e = TS B
Ans X 1. 3¢ + HIG
X 2 39 + A
V2 3d + A
K4 3o + A

Question ID : 719399821
Status : Answered
Chosen Option: 3

¥ gmmor F Pt @ s9ET E?
Ans of 1
XoT
X3 oT
X4 T

Question ID : 719399826
Status : Answered
Chosen Option : 1

U et T YR & T R
Ans o 1. HTIET=IR

v 2 FifeETEE

X 3. gSOd=EH

X 4 gfdaarEes

Question ID : 719399835
Status : Answered
Chosen Option : 2

UV e F T T oo FET R
Ans ?(1%%'4'
X2 o d

X 3 F3T
& ST

Question ID : 719399823
Status : Answered




Chosen Option : 4

by ot & o2 = Hla @ 82
XK F T FE T T 3

X 2 3T FT e

V'3 =g e 8 H S

X4 F gr g¢ ¥ HUr TIET & 8T o)

Question ID : 719399832
Status : Answered
Chosen Option: 1

Y oo F BT T ST F BT T ds AT B
Ans of 1. SFEER

X 2 e

X 3 FAEET

X 4 TS

Question ID : 719399828
Status : Answered
Chosen Option : 1

% TES W AT gEe w1 OGE oY
e X1 FH T
X2 g &

X 3 g fe@rar
{4.§Wm

Question ID : 719399833
Status : Answered
Chosen Option : 4

Y e F T T oo SR R
Ans x_l. qarﬁ-

X 2 afivar

X3 gfEr

v 4 g

Question ID : 719399825
Status : Answered
Chosen Option : 4




Section : General English

Q1 Select the most appropriate synonym of the given word.

ULTIMATE

Ans 1. first
v 2 final
& 3. immediate
X 4 pext

Question ID : 719399842
Status : Answered
Chosen Option : 3

Q2 gelect the most appropriate phrase to fill in the blank.

Our new typist my expectations.
Ans X 1. falls back on
/5 2. falls away

W 3. falls short of
< 4. falls behind

Question ID : 719399848
Status : Not Answered
Chosen Option : --

@3 Select the most appropriate ANTONYM of the given word.

ARROGANT
Ans of 1. modest

/< 2. proud

X 2 haughty

/< 4. superior

Question ID : 719399845
Status : Not Answered
Chosen Option : --

Q4 gelect the most appropriate option to fill in the blank.

He wants to discuss date sheet for coming examinations.
Ans 1. a, the
W 2. the, the

/< 3. No word required, a




< 4. the, No word required

Question ID : 719399836
Status : Answered
Chosen Option : 1

Q5 select the correctly spelt word.

Ans  of 1. manufacture
/< 2. manufachure
/< 3. manufecture

/< 4 menufacture

Question ID : 719399846
Status : Answered
Chosen Option : 4

Q6 Select the most appropriate synonym of the given word.

IMPOSE

Ans X 1. allow
/< 2. manage
W 3. force
< 4 close

Question ID : 719399843
Status : Not Answered
Chosen Option : --

Q7 Select the correct passive form of the given sentence.

People do not take the law seriously.
Ans 3 1. People are not taken seriously by the law.
/< 2. The law has not been taken seriously by people.
+ 3 The law is not taken seriously by people.
/< 4 The law is not being taken seriously by people.

Question ID : 719399850
Status : Not Answered
Chosen Option : --

@8 gelect the most appropriate option to fill in the blank.

had we stepped out we got drenched.

Ans  of 1. Hardly, when
/< 2. Although, yet




X 3. As, so
X 4. Both, and

Question ID : 719399841
Status : Not Answered
Chosen Option : --

Q.9 The following sentence has been divided into three parts. One of them may be incorrect. Choose the INCORRECT part

from the given options.

The song was so moving/ as all eyes/ became wet.

Ans 1. No error

W 2 asall eyes
/< 3. The song was so moving

/< 4 became wet

Question ID : 719399847
Status : Answered
Chosen Option : 3

Q.1 e - .
o Select the most appropriate option to fill in the blank.

The stray dogs our colony area nuisance.
Ans ( 1 in
X 2 at
X 3 on
& 4 about

Question ID : 719399837
Status : Answered
Chosen Option : 2

0.1 i i i
; Select the most appropriate option to fill in the blank.

A fine breeze and the children are flying kites.

Ans X 1. blows
+ 2. has been blowing

/< 3. has blown
/< 4 was blowing

Question ID : 719399840
Status : Not Answered
Chosen Option : --

Q,; Select the most appropriate ANTONYM of the given word.

TENDER

Ans 1. delicate




/< 2. affectionate
« 3. tough
X 4 kind

Question ID : 719399844
Status : Answered
Chosen Option: 2

Ans 5 1. in the long run
& 2 in a nut shell
X 3. in short

« 4 invain

&1 Select the most appropriate idiom to fill in the blank.

The cat made many attempts to catch the mouse but

Question ID : 719399849
Status : Answered
Chosen Option : 2

Renu has been called
Ans 1. at, for

X 2. in, about

W 3. for, by

X 4. on, for

an interview

Q.1 i i i
. Select the most appropriate option to fill in the blank.

a law firm.

Question ID : 719399838
Status : Answered
Chosen Option: 3

Ans 5 1. has watered
/< 2. watered
/% 3. is watering

' 4 was watering

While Avika the plants, it started raining.

Q.1 i i i
. Select the most appropriate option to fill in the blank.

Question ID : 719399839
Status : Not Answered
Chosen Option : --

Section : Technical

Q.1




Ans

For lap & wave winding, back pitch and front pitch numbers:
/< 1. should be even for lap and odd for wave winding
/< 2. should be odd for lap and even for wave winding

+ 3. should both be odd
< 4. should both be even

Question ID : 719399949
Status : Answered
Chosen Option : 4

Q.2

Ans

5w e % qun 9Ra Rege = 59 & T 58 3097 = 99 FRF 5 T g &2

X . faega s e

X 2 UE F 1 A

X3 A & FEE

v i e T s

Question ID : 719399875
Status : Answered
Chosen Option : 4

Q3 =fy smfaw Feeir g ar AIC et |ATar 9ot @ deEr ot B §E & aET @ 2
Ans

X1 e FEA (TR
v 8% e (@R
XK s dTer Fer (IrsfE)
X 4 9rer 3R FET FIAr (TR

Question ID : 719399968
Status : Answered
Chosen Option : 3

Q.4

Ans

9ienET W qUE #3fE & FR A F R0 39U 1 T awr gwe $ {e @R B-H arr &9 ger

X1 wfoe wdr anr gife 3ot w §
v o za8 TEifaw afe wm o

X 3 38 3w o wo 3R 3Eue 2T B
X4 ¥ 7w T gfF 3omfed #=a #l

Question ID : 719399873
Status : Answered
Chosen Option : 2

Q.5
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X 2 gfea ¥ fagaor gg
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v 4 fosT O T 3METIE & WY fAes § Ao & T

Question ID : 719399993
Status : Not Answered
Chosen Option : --

Q6 337 fysed F TF N F FI T B AUF TaTd F 30N F A FT 2

A 1 3nres, TERTEE, BIEET T
X 2 378, gAr WA, I
X 3 TTETEH, e, T
X 4 wIgEY T, O, H

Question ID : 719399916
Status : Not Answered
Chosen Option : --

Y geaEfdst F e g fhafow & S 22

e X FoF me ¥ BT
X 2 =TT ST 9HT §e & o
v 5 =Tel g 9N uEE & fore
X 4 FOITEOT gE & T

Question ID : 719399934
Status : Answered
Chosen Option : 1

Q-8 If the pole span or coil pitch is equal to the pole pitch, the winding is called:

Ans 1. fractional-pitched
/< 2. half-pitched
/< 3. whole-pitched
o 4. full-pitched

Question ID : 719399967
Status : Answered
Chosen Option : 4




Ane X fRfEees arex
X 2 FHIrArsT 3MTeFaTss
v o HewgH TS
X 4 FEFETR dFEEE
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Question ID : 719399887
Status : Answered
Chosen Option : 3

Q61 Which of the following options is a bidirectional device?

Ans of 1. TRAIC
X 2 LASCR
X 3. SCR
X 4 Diode

Question ID : 719399986
Status : Answered
Chosen Option : 1

Ans X 1. Open coil in the armature

v

/< 3. Incorrect brush spring pressure

/< 4. Defective interpoles

01-1 What is/are the most likely cause(s) of sparking at the brushes in a DC machine?

Open coil in the armature, defective interpoles and incorrect brush spring pressure

Question ID : 719399892
Status : Answered
Chosen Option : 3

°é1 If coil span is less than the pole pitch, the winding is:
Ans X 1. full-pitched

/< 2. whole-pitched

« 3 fractional-pitched

/< 4. half-pitched

Question ID : 719399978
Status : Answered
Chosen Option : 4

%' s urr AT 1 R Rega T ao |




MK R el dteear @ Y @ e §
v 2 FHT TUERT H Aeg T &
X o 9gFd deedr H WETde e §
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Question ID : 719399914
Status : Answered
Chosen Option: 2

01-41 T o R # ve et =T Sy & o &, & 7w v

e X NSFR FEsT
K 2 3 gEeREaeY
X3 A FHREFT
v 4 PgET BHEEETET

T ST R

Question ID : 719399980
Status : Answered
Chosen Option : 4

051 w 9o ¥ ofed g=vF o Taes awr gfise THA & Y IF ¥ FH YEE FT 87

e XK g A yades
X 2 37 AB gade
v T C gt
X4 gar B wadF

Question ID : 719399995
Status : Not Answered
Chosen Option : --

U e o @ afa, IoF B W,

XA 2 7000 & 1000 3 ofy a=T 4 & &=
/<3 700 ¥ 1000 30H 9fad I §&r & &=
X470 ¥ 100 3F 9fy =7 & & &=r

g 2l
Ane 170,000 ¥ 100,000 31 9fF I°F T3l & &@=r

Question ID : 719399921
Status : Not Answered
Chosen Option : --

U fonfaT (SEwER) T AT gatar #8 =4 g 87
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Question ID : 719399930
Status : Answered
Chosen Option : 3

% R e Reedt F ¥ Fi7 @ ofwe (F3ge) F aeilEor ad 2
Ane XK. gordr I ofwel

X 2 FFT gfizedr

Vo Ee BT i

K 4 Tg aiREd

Question ID : 719399971
Status : Not Answered
Chosen Option : --

U PRE & @ P9 T T I Ry & F T 3erer 7
At 1 geofis Aw

X 2 gy deEle A

2 G-l e

X4 AT T

Question ID : 719399879
Status : Answered
Chosen Option: 1

A2 Rodt & sfoafaa fhe ey & wod 3w Tl $ smEeawar @ 37

Ans x12@'§
X 2. gTer
W 2 HEOOA FET
X 4w

Question ID : 719399942
Status : Answered
Chosen Option : 3
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Ans X 1. ARPT HI3TYET * FETT
X 2. AfFd FAYE - FlA
X o ofFa mEeqe + dig @A
v o ITHEY O x 92T f¥Ega aes T

Question ID : 719399905
Status : Answered
Chosen Option : 4

WV ST § ¥ FiF a1 ReeT aRonET #T a6 ag 22
Ans X 1. =OTER (Bushings)
X 2 7FTefr (Conservator)

v 3 ek (Isolator)
/X 4 a8+ (Breather)

Question ID : 719399936
Status : Answered
Chosen Option : 3

A XK. Reeritder O
X 2 Ritaer HT AT T
X 3. gATERST TT
v 4 gFa T

Question ID : 719399940
Status : Answered
Chosen Option: 3

Qfﬁimﬁlﬁﬁaﬁwq‘%ﬁﬁﬁaﬂmwﬁgﬁl
Ans x.laufa_r

X 2. g@ar

X3 g

v 4 FETee

Question ID : 719399869
Status : Answered
Chosen Option : 4

U2 v T TR & v, s Jeeiedr # A F4 g 32




e X acafae 3= A

X2 wHH §FH
/X 3. Teh FHUMcH ATA

v i TEE T st 3w

Question ID : 719399870
Status : Not Answered
Chosen Option : --

S ¥ #r zs ¥
e sify e

K 2 ofg T

X 3 Hged

X 4 geprar LT

Question ID : 719399941
Status : Answered
Chosen Option : 1

Q2 wofdie & arieet g o forww @ s Ren B s & fore fsar ster
A X1 gfarsdsr

X 2 gEhrT HidETg

v« g e =

X 4 FEFer F a0

Question ID : 719399872
Status : Answered
Chosen Option : 3

Qéz Which of the following is a characteristic of a universal motor?
Ans X 1. High starting torque and constant speed
/< 2. Low starting torque and variable speed
/< 3. Low starting torque and constant speed

« 4 High starting torque and variable speed

Question ID : 719399959
Status : Answered
Chosen Option : 4

QéZ der-wen, Sear-waiaE, g siotvs oftey # ofFa e & @ e faweT g ol e @2

Ans




X VL

v 2 3V I

F QERRVEEL A
X 4 VI /A3

Question ID : 719399923
Status : Answered
Chosen Option : 2

Q.3 A four-pole generator having wave-wound armature winding has 51 slots, each slot containing 20 conductors. What will
0 Dbe the voltage generated in the machine when driven at 1500 rpm, assuming the flux per pole to be 7.0 mWb?

Ans X1 156 V
v 2 1785V
X3 170V
X 4 1805V

Question ID : 719399897
Status : Answered
Chosen Option : 2

3 zmm aEE w IRy F gy Ree T gard &
Ans X1 e Que

2. OATcHS d9HTH ﬁ_g.Uiidn

X3 3= TufeT

X 4 HOTMcHS dTIHATA a;rl:rnm

g gl

Question ID : 719399884
Status : Answered
Chosen Option : 2

°2'3 Which of the following loads would be best driven by a shunt motor?

Ans 1. Electric locomotive
/< 2. Fan

+ 3. Reciprocating pump
/< 4. Centrifugal pump

Question ID : 719399908
Status : Answered
Chosen Option : 4

Q§3 T& e ORT (DC) Alex #, vHiEf qarger FT GEIAr T Ieqried Brar S B

wns 1. feRT AT




X 2 FafEds
X 3T

v o g 3R ReafEds

Question ID : 719399890
Status : Answered
Chosen Option: 2

Q3 geamafdT (alternator) Fr ZaraT ST ¥ FoJ W FHIT T T
e X A
v afgg

X 3. dreear
X4 uar

Question ID : 719399933
Status : Answered
Chosen Option : 1

Q.3 The main function of interpoles is to minimize the between the brushes and the commutator when a DC motor is
5 loaded.

Ans 1. current
/< 2 friction
/< 3. wear and tear
« 4 sparking

Question ID : 719399891
Status : Answered
Chosen Option : 4

°é3 The reverse current in a crystal diode is of the order of;
Ans 1. kilo ampere

/< 2. milli ampere

+ 3. micro ampere

< 4. ampere

Question ID : 719399981
Status : Answered
Chosen Option : 3

@3 The Ta/la graph of a DC series motor is a:

Ans X 1. parabola throughout

« 2. parabola up to full load and a straight line at overload
/< 3. straight line throughout




/< 4. parabola from no-load to overload

Question ID : 719399904
Status : Not Answered
Chosen Option : --

Qé3 xmﬁmqﬁﬁﬂmaﬁ N FE F e ¥ 9ed 9T ¥ FA Jd g
Ane X1 ofyget sk et

X o et

?(4.%';]}'—

Question ID : 719399920
Status : Not Answered
Chosen Option : --

Ans of 1 Frer, e, e
X 2. ST, drem, e
X 3. Tel, Tel, Hrell
X 4 e AR Fremw

Q§3 Ay TEuT (FAe) F BT U BFT S el 3-31 a7 &, PVC U T 39T #1297 2 8

Question ID : 719399862
Status : Answered
Chosen Option: 1

064 Lightening arresters are connected between
Ans o 1. phase and ground

/< 2. phase and pole

/< 3. phase and phase

/< 4. ground and pole

Question ID : 719399963
Status : Answered
Chosen Option : 4

Ans 1. 2000 rpm
+ 2. 1500 rpm
< 31000 rpm
X 4. 750 rpm

Q1~4 50Hz Feamae ORI WX T A 4- e Jemwee Bl % e dwe F quie afy F@w geh?




Question ID : 719399953
Status : Answered
Chosen Option : 2

°é4 The condition for maximum efficiency of a DC generator is:

Ans  of 1. variable loss = constant loss
X 2 Eb=v
/< 3. input losses = output losses

/< 4 core loss = iron loss

Question ID : 719399893
Status : Answered
Chosen Option : 1

% suEdT G $ o geaEdt 9RT (AC) # o wure Fa 17

At o1 1.414
X2 111
X3 1414
Xa 111

Question ID : 719399922
Status : Answered
Chosen Option : 1

044 is used to provide an interrupted free supply of power to an AC load.

Ans X' 1. RCCB
v 2 UPS
X 3. SMPS
X 4 MPS

Question ID : 719399992
Status : Answered
Chosen Option: 2

Q.4 A 3-phase, 440 V, 60 Hz induction motor has 3% slip. The frequency of the rotor current will be:
5

Ans of 1 1.8 Hz
X 2 63Hz
X 3 3Hz
< 4 60 Hz

Question ID : 719399956
Status : Answered
Chosen Option : 1

Q4




® 1 kWh fega F= & TR A B

Ans 213600 W

< 2 4186 J

V'3 860 kcal

< 4 3600 J

Question ID : 719399867
Status : Answered
Chosen Option : 3

0%4 F TR el & Sr9E §AEe T & S ZarT 5 = ¥
il I X

v 2 aFfeée
X 3 HT (earth) =o€
X 4 am-fagss (EEde)

Question ID : 719399885
Status : Answered
Chosen Option : 2

°é4 Which of the following is NOT a voltage soutce inverter (VSI)?

Ans

X 1. Power MOSFET
& 2. Power transistors
X 3. GTO

v 4 Diodes

Question ID : 719399966
Status : Answered
Chosen Option: 3

Q§4 Which of the following options gives the correct expression for fusing factor?

Ans

minimum fusing factor

« 1. Fusing factor

current rating

current rating

/< 2. Fusing factor

maximum fusing factor

maximum fusing factor

/< 3. Fusing factor

current rating

current rating

< 4. Fusing factor

minimum fusing factor

Question ID : 719399973
Status : Answered
Chosen Option : 3

Q.5




0 zmr & v arg TR Y v TulE % e @A §) 3% e Tl & afiar ag gl
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Ans (1.3
X212
v':6
X< 4 0.166

Question ID : 719399877
Status : Answered
Chosen Option : 3

Q.5 A device which converts fixed alternating voltage directly to variable alternating voltage without change in frequency is
1 called:

Ans o 1. AC voltage controller

#< 2. converter
/< 3. DC voltage controller

/< 4 rectifier

Question ID : 719399965
Status : Answered
Chosen Option : 1

Q,f Silicon Controlled Rectifier is a layer device.

Ans X1_ 2
X211
Vs 4
Xa3

Question ID : 719399983
Status : Answered
Chosen Option : 3

Q.s " . b . .
, Among the given options, which is NOT a property of corona?
Ans x 1.

Partial electrical discharge at the surface of conductor at high voltage

' 2. Not audible
< 3. Visible
< 4 Audible

Question ID : 719399962
Status : Answered
Chosen Option : 2

045 Which of the following circuits is NOT present in static relay simplified block diagrams?

Ans X 1. Output device




V' 2. Inverter
/< 3. Amplifier

/< 4 Rectifier

Question ID : 719399974
Status : Not Answered
Chosen Option : --

Q.5 vz a7 fagga Rwy & vF IR (Seear 99) 1 ASAOET TR 5T w9 @ 97 foniy w2 ¥
5

Ans X 1. R T HH
Vv 2 amT & vaIg S e

X 3. SHF ATETAH W YaIgd gled JTedl eI hr AT

X4 dTh maEa

Question ID : 719399865
Status : Answered
Chosen Option : 4

065 Half-wave converters are used for controlling DC motors with power rating of:

Ans X 1. more than 8000 W
X 2. 4000 W - 8000 W
' 3. below 400 W
X 4 400 W - 4000 W

Question ID : 719399990
Status : Not Answered
Chosen Option : --

0%5 el IR (T F TG, Rega-ATEeT (Selegiense) aTTAT

Ans o 1. 40 °C
X20 °C
X 3 HHARET dr9AH
X 4120 °C

¥ e af @ ke

Question ID : 719399888
Status : Not Answered
Chosen Option : --

L gare @k e & fw fGE v F o F yaer R S §2

Ans ?(T aﬁ? ﬁq‘

X 2 gradreg of
X 3 WzTHE I o




v o et o

Question ID : 719399943
Status : Answered
Chosen Option : 4

5

%5 In step-up transformer,

Ans 1. frequency reduces
X 2. voltage reduces

< 3. current increases
« 4 voltage increases

from primary to secondary coils.

Question ID : 719399928
Status : Answered
Chosen Option : 4

Q66 DOL starter is used for

Ans X 1. only delta connected
« 2. low rating
X 3. large rating

/< 4 medium rating

induction motor.

Question ID : 719399957
Status : Answered
Chosen Option : 2

01-6 When electric current passes through a metallic conductor, the temperature rises due to:

Ans 1. mutual collision between metal atoms

« 2 collision between conduction electrons and atoms
/< 3. the release of conduction electrons from parent atoms

/< 4 mutual collision between conducting electrons

Question ID : 719399859
Status : Answered
Chosen Option : 3

U6 fyse umT Sl &, eUied Rege aEh q & WA @ B

Ans (1%3_3{@3.[3_

X 2 3 Fefoat #r Fwar
X 3. T gaEaT ot dr g

X4 & unr




Question ID : 719399901
Status : Answered
Chosen Option : 1

% & W FehE ¥ o, gEw-am wdor grar 2
Ans 2 1. 100%

v 1% J FH

X3 0%

X 4 50%

Question ID : 719399954
Status : Answered
Chosen Option: 2

% geer geRrer sygTAT F |
Ans X1 10% serrer A Fr AR BT §
X 2 50% erter Hr=r #r T Far ¥
v 3 90% JeRrer Hrer Fr HT g §
X 4 60% erter Hr=r #r 3 Far §

Question ID : 719399945
Status : Not Answered
Chosen Option : --

%¢ Synchronous motor is:
Ans X 1. a self-starting motor
+ 2. not a self-starting motor

/< 3. auniversal motor
/< 4. a DC motor

Question ID : 719399952
Status : Answered
Chosen Option : 2

066 Belted cables are used in electrical installations for voltage level of up to:

Ans  of 1. 11000 volts
& 2. 22000 volts
< 3. 20000 volts
/< 41100 volts

Question ID : 719399863
Status : Not Answered
Chosen Option : --
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Ans X 1.15 V
v215V
X33V
X430V

Question ID : 719399881
Status : Answered
Chosen Option : 2

@ Which of the following is NOT a method for conduit wiring?
Ans o 1. Drawing out

/< 2. Pushing in

/< 3. Threading through

/< 4 Drawing in

Question ID : 719399970
Status : Not Answered
Chosen Option : --

% afreadt sk (Varistors) &= 89 &2
e X e i

X 2. g

X3 I gfaes

v 1 gfates

Question ID : 719399857
Status : Answered
Chosen Option : 4

Q7 : : -
o The typical expected lifespan of pressed glass lamps is:
Ans < 1. 100 hrs

< 2 400 hrs
< 3. 300 hrs
W 4 200 hrs
Question ID : 7193991000
Status : Not Answered
Chosen Option : --
Q7 F 7 s Rege ST S F AT F e B Smar B

Are XK. el @




X 2 gues gieRy
v 3. Jrere wfaRter
X4.iﬁ3ﬁ'ﬂ1’ﬁ?ﬁ

Question ID : 719399938
Status : Answered
Chosen Option : 3

Ans x1m% 4
X 2 SIS & HER

v & THERS T8 91

X o 92T faggd age q

Q.7 ¥ % fegy wUed ¥ gy O 5 amEn, Regy & oA A gan gee e av Rt aeret
2 ¥ st w1 gewAE S & FHAEAET g B

Question ID : 719399882
Status : Answered
Chosen Option : 4

Q.7 During parallel operation of two transformers, the condition which is not followed is that:
3

Ans 3 1. they must operate at same frequency
/< 2. they must have equal voltage rating
/< 3. they must have same transformation ratio

o 4 they must have equal current rating

Question ID : 719399931
Status : Answered
Chosen Option : 4

% PVC art & w2

X 2 F==T Feear

& forw fomam Smar

Ane XK. Faa BET deear

v 3 e 3T AewR Seear
X 4 FFeT FeOH dreear

Question ID : 719399972
Status : Answered
Chosen Option: 3

Ans X 1. HHF

Y P & @ wd woTeRs aoE= T Ad @ 22




X2 T

X 3 FETSH
v o TEgTAIH
=
Question ID : 719399858
Status : Answered
Chosen Option : 4
067 For connecting and disconnecting rigid conduits pipe, tools are required.

Ans o 1. pipe wrenches
/< 2. conduit pipe cutters
/< 3. bending racks

/5 4. pressure benders

Question ID : 719399853
Status : Not Answered
Chosen Option : --

Y faegd Ted & a9 ¥ g W |
Ane X dieT faggd #T 9gaX Ao B §
X 2 s a1g # Sy HEAtAT § # gedr §

V3 3y FT gfadr gear B
X 4 FereAe # 9y o= s AT §

Question ID : 719399883
Status : Answered
Chosen Option : 3

Qé7 oo g M IFT F T F A9 o AT F w0 F, Afaf@a 7 ¥ FiF O A v & e s=w
@ 82

MK gfd arr
X2 8T umr

X3 R
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Question ID : 719399906
Status : Not Answered
Chosen Option : --

Q§7 Salient pole-type rotors are used in alternators which are driven by what kind of movers?

Ans X 1. High and medium speed prime movers




/< 2. Only low speed prime movers
+ 3. Low and medium speed prime movers

/< 4 Low and high speed prime movers

Question ID : 719399932
Status : Answered
Chosen Option : 2

068 In practice, regenerative braking is used in DC motor when:

Ans 3 1. controlling elevators. rolling mills and printing presses etc.
/< 2. quick motor reversal is desired
« 3. load has overhauling characteristics

/< 4. other methods cannot be used

Question ID : 719399910
Status : Not Answered
Chosen Option : --

Q8 aror ey T 3 deear feve urr SfaT & e s9geE ¢
e K. e 3=

Question ID : 719399898
Status : Answered
Chosen Option : 3

Q.8 500 V ¢ v 8- ter AT & amsege 200 A ¥ TREDSST AR & 1280 FEe AN 160
Wﬁﬁ‘:ﬁ-‘ﬁ?(m@m ﬁ??lﬂ%ﬁTQF—mmm(neutml axis) & 4 W= 3EEdl @ & 9y drer
IR fgEwa TR S e w5y

Ans 1. 780
X 2 670
X 3 890
v+ 800

Question ID : 719399894
Status : Not Answered
Chosen Option : --

Qés Transformer core laminations are insulated by:
Ans % 1. cotton tape
/5 2. paper




v 3. varnish
/< 4 impregnated paper

Question ID : 719399927
Status : Answered
Chosen Option : 3

Ae X i@ gg T &

Vi3igSrFE AT 8
X4 R Tl ' e

U a T 4X, five 9wy e Hew fr Y

X 2 AR & § S&dr &

Question ID : 719399907
Status : Answered
Chosen Option : 4

5 sfna sy s weeeieT W w0
Ans X1 56000 31 +10%
/< 2 56000 3HH +5%
X 3 560000 3 £10%
v 4 560000 3T +5%

Q.8 = o FIET FHEA AeRF &, T FE, ¢ G AW, FEAER & &, Ao, G, gEen gkt &

Question ID : 719399878
Status : Answered
Chosen Option : 4

K0 A e o
X 2 fJag o

v REde T
K4 faEee o

U8 Rv T Reedt F T Y ToEd 3w F @ F g G s 32

Question ID : 719399999
Status : Not Answered
Chosen Option : --

Q.8 A/An
7 junction is exposed to light.

Ans 1. varactor diode
' 2. photodiode

/< 3. tunnel diode

is a reverse biased silicon or germanium PN junction diode in which reverse current increases when the




< 4 LED

Question ID : 719399982
Status : Not Answered
Chosen Option : --

Q.8 In the resistive method of speed control for a DC shunt motor, use of armature diverter makes the method:

8
Ans 1. less wasteful

X 2. less expensive
/< 3. unsuitable for changing loads

« 4 suitable for rapidly changing loads

Question ID : 719399911
Status : Not Answered
Chosen Option : --

Q8 afy v delr 6 B & U 10 A urr & & A ded @ Tl (R Fn ¥
Ans X110 Ah

2 2 600 Ah
v 3 60 Ah
X 4 6 Ah
Question ID : 719399880
Status : Answered
Chosen Option : 3
0693q3n"rﬁﬁmaqﬁ'urrﬁ-=r$rm F WIE T g & e A ST g
K R e #feT
X 2 veEY
X 3 FrEAreT
v 4 SreedeT
Question ID : 719399935
Status : Not Answered
Chosen Option : --
a9 ¥ e $r Rega-ur aer Rl F wed ¥ 9 Fo e
Ans - X 1. 50 mA
<210 mA
/< 315 mA
v 4200 mA

Question ID : 719399852
Status : Not Answered




l Chosen Option : --

, 1n DC Machine for a progressive winding:
Ans x 1. YB < YF

X2 Yg=Y
XS' YB:YF_I_I
v 4 Yp> Y

Question ID : 719399950
Status : Not Answered
Chosen Option : --

%° The two inductive coils in a transformer are:

Ans X 1. magnetically separated and electrically connected
/< 2. electrically connected and magnetically connected
W 3. electrically separated and magnetically connected

/< 4. electrically separated and magnetically separated

Question ID : 719399926
Status : Answered
Chosen Option: 3

U e AT #, FalrowraT TE AN Ao TE & A Sl S g 2

Ans X 1.5 eV
v eV
X310 eV
X 415 eV

Question ID : 719399979
Status : Answered
Chosen Option: 2

°é9 Which of the materials mentioned in the options has a high electric resistance?
Ans  of 1. Mica

X 2 Zinc

/< 3. Manganese

X 4 Silver

Question ID : 719399889
Status : Answered
Chosen Option : 1

069 e a7 TE % o, TF & AN F Jaed F T aR F TIS FAT ARV




A of 13 KW
X245 KW
X3 6 KW
X4 5 KW

Question ID : 719399998
Status : Not Answered
Chosen Option : --

L9 et awr (AC) IRy #, R sl sk smgfes F f Fw waw B
Ans o1 X, = 4nfL

V2 X, = 2=fL
X3 X, =1/2xfL
X 4 X, =nfL
Question ID : 719399924
Status : Answered
Chosen Option : 2
% Rsra %t AeX &, o S A g

e Xz R s=L
X RIAR @=L
vz LA "= R
XezmmgRIARBFFL

Question ID : 719399958
Status : Not Answered
Chosen Option : --

Qég In DC generator, magnetic and mechanical losses are collectively known as:
Ans 1. core loss
« 2. stray loss

/< 3. rotational loss

/< 4 copper loss

Question ID : 719399895
Status : Answered
Chosen Option : 2

% AaE TAeT Hr s FT 7
Ans ?(1%?3'
X2 3=y




v o Eger
X 4 UfPaTT By

Question ID : 719399871
Status : Answered
Chosen Option : 3

Q! Choose the option that is correct.

Ans ?(1~

MOSFET is a bipolar, current-controlled, three-terminal device

v 2

MOSFET is a unipolar, voltage-controlled, three-terminal device

X 3

MOSFET is a unipolar, voltage-controlled, two-terminal device

X a

MOSFET is a bipolar, current-controlled, two-terminal device

Question ID : 719399988
Status : Answered
Chosen Option: 2

Q.1 = ,
oo Pole pitch is defined as the:

Ans x-]_

number of conductors in one slot at the back end of the armature.

+ 2. number of armature slots per pole.

X 3

distance between the starting of the first coil and that of the successive coil.

X a

number of slots spanned by two pole at the front end of the armature.

Question ID : 719399946
Status : Answered
Chosen Option: 3

P I€ 3990 ¢ fomd BJT 3K MOSFET 2t & =t g &

Ans X1 MCT
X 2 SCR
v 2 IGBT
X 4 TRIAC

Question ID : 719399987
Status : Not Answered
Chosen Option : --

Q.1 The chief advantage of Ward Leonard system of DC motor speed control is that it:
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Ans 1. has high overall efficiency at all speed

/< 2. can be used even for small motors

/< 3. uses a flywheel to reduce fluctuations in power demand

« 4 gives smooth, sensitive and wide speed control

Question ID : 719399909
Status : Not Answered
Chosen Option : --

%g%qwmaﬂﬂwmqﬁmmamaﬁﬁ gifer & FROT FA g
Ans xl FﬁﬁT

X 2. oAgT

V3 g

K4 it

Question ID : 719399912
Status : Not Answered
Chosen Option : --

e fove umr Sfe & 9fyeor FEeh e T aUfAE FROT FT §?
Ans 1.
HTHR Jaehed ags I (mmf) FF HATISE (neutralize) H|
X 2 7Er FiEaw 7 w4 & R gfowr w5
V3
HITET a1 HFEE HT HATISE (neutralize) FET

X 4 gaE HPaE BEtor saT @)

Question ID : 719399900
Status : Not Answered
Chosen Option : --

Y aiferwex oia = A ¥ YT #9 wEr S 2
A XK. o 3g 3aRea @

v 2 FE QST 9 HIF Tohd 9gEd 7 @

X 3 J9 3cHed ST /T HEAT @

X 4 F HF ACTA W HIS oI a1 d 7 &

Question ID : 719399996
Status : Not Answered




l Chosen Option : --

%-guﬁzzomﬁrzﬁﬁaaaﬁoaﬁﬁ@rm@#qﬁﬁammmm et
Ans X1 ey

X 2 QLA

v 5 ue-atarg

X 4 FJATT
Question ID : 719399866
Status : Answered
Chosen Option : 2
S T TR (FEAER) A Fe e % fonlt a3
e X1 Freear AR amr ¥ &= arer @
v 2 dreear AR um
oGRS g
X 4 Sreear

Question ID : 719399929
Status : Answered
Chosen Option : 1

‘33 Lamination of the stator is necessary because:

Ans ?(T

the flux is constant when a motor is operated from DC supply

X2

the flux is alternating when a motor is operated from DC supply

X 3

the flux is constant when a motor is operated from AC supply
v

the flux is alternating when a motor is operated from AC supply

Question ID : 719399960
Status : Not Answered
Chosen Option : --

W T 3T A gegetes Hel # pf g &
Ans of 1. qemrETHT

X2 T

X 3 T

X4 3T




Question ID : 719399951
Status : Answered
Chosen Option : 3

‘321 The current in the neutral wire of an unbalanced star connected circuit is:

ans a1 Iy =Ig + Iy — I
X2ly=g—k+I
RN Ty A, S
veoly=Ig+Ily+1g

Question ID : 719399925
Status : Not Answered
Chosen Option : --

C:-; T ZIORER # Sede URT Iy T A0 &, S@1 B = 100, Ip = 20pA BT gam F

Ans ¢1.0.0202 mA
X< 2 1.98 mA
v': 202 mA
X< 4 0.0198 mA

Question ID : 719399984
Status : Not Answered
Chosen Option : --

%4 PVC &1 907 &7 & 37

An X 1. positive voltage conductor (diTaifed aees FEFeI)
X 2 pressed and varnished cloth (3¥s Ug arfaer a=ny)
X 3. polyvinyl cloth (STeNfaaTSe Ferrer)
v 4 polyvinyl chloride (STenfaTger FallTrgs)

Question ID : 719399868
Status : Answered
Chosen Option : 4

251 Ward Leonard system of speed control of DC motor is NOT recommended for:
Ans o 1. constant speed operation

/< 2. very low speeds

/< 3. a wide speed range

/< 4 frequent motor reversals

Question ID : 719399896
Status : Answered




l

Chosen Option : 4

Ans  of 1. conductance
X 2. inductance
/< 3. susceptance

/X 4 resistance

2; The property of an electrical material due to which current passes through it is called:

Question ID : 719399854
Status : Answered
Chosen Option: 1

18
Ans o 1. Paper insulated

/< 2. Laminated

X 3. PVC insulated
< 4. 0il insulated

3'71 gfed o= @90, oo e 3 €T @eRass gl
Ans
v FE, 3w
X 2 o, w7
X 3w, Hiee
X 4 TH, BH
Question ID : 719399851
Status : Answered
Chosen Option : 1
Q.1 cables are used for conveying large blocks of power in fransmission and distribution.

Question ID : 719399976
Status : Answered
Chosen Option : 1

Ans X 1. create the air pockets
/< 2. protect the materials from corrosion
« 3. fill the air pockets with oil

/< 4 cover the surface of the material

‘3'91 The purpose of impregnation of insulating materials is to:

Question ID : 719399915
Status : Not Answered
Chosen Option : --

% g FfaT F Reofaas &1 AT 3227

I -




Ans x1.a‘arqrz:§i%‘h1?rmm

X 2 3T3TYE dreear agh=

v 3 9T geamadt air Y e g F afEtaa e
X 4 FITH JH13TIS HeTeA HTAT

Question ID : 719399913
Status : Answered
Chosen Option : 3

Q1 ©s PNPN 3901 § o) ©F O UHlcHs 91T 91T ¢aRT ool & 97t e o @bt 7 3
21 o moTeEE e W EE s B o1 wwa
Ans X 1. SCR

v 2 GTO

X< 3. DIAC

< 4 TRIAC

Question ID : 719399989
Status : Not Answered
Chosen Option : --

0221 fomz amr Al H, 49 ST I B TAET G ST &1 @A 9wt g w4 e 32

Ans x16
V22
X3 4
X8

Question ID : 719399947
Status : Answered
Chosen Option : 2

3'; The percentage of fault occurrence in an overhead line system is:
Ans 1. 1-3

X 2.15-20

73 68

v 4 30-40

Question ID : 719399975
Status : Not Answered
Chosen Option : --

Q.1 Acoil has 1000 turns. A current of 5 A causes a flux of 6 mWhb which links with the coil. What is the inductance of the coil?
24

Ans 510 1200 H
v212H




X3 1.2mH
X< 4 0833H

Question ID : 719399876
Status : Answered
Chosen Option : 2

% T Sfery o REaliada s # gew w9 @ F g 7
Ans X1 gearadt amT FT fse uRr & s

X 2. gfaerdr aeear 1 &)

V3
TEHrT 3T 38T (MNA) FT 91 T T HHTR F5e H URT F1 ShiAd g

X a4 Ter AT ¥ TR 61 T 9T # IS

Question ID : 719399902
Status : Answered
Chosen Option : 1

% Uw WfETm v & 3wy F oftam & g &
Ans 1 ST HFTUT
v 2 g HTET

X s 3 dgEr
X 4 FF HITET

Question ID : 719399944
Status : Answered
Chosen Option: 1

Q.1 A device that converts DC power into AC power at the desired output voltage and frequency is called a/an:
27

Ans o 1. inverter
X 2 rectifier
/< 3. converter
/< 4 controller

Question ID : 719399964
Status : Answered
Chosen Option : 1

% = F #RA, F FH B F Rw geem (SffEeE) B s §
i wEremr gfE
X 2. AP IUTH

Xamﬁ?rﬁaﬂ:g




X 4 3oaifed Jeed

Question ID : 719399977
Status : Answered
Chosen Option : 1

29 *
Ane XK e RufE
X 2 qur-aR iy

X o wgfea s ufa
v o srEgfoe e TRl

Q1 Fomwifem mdet #, s=wes Fear & Ted Egfod 3 T droedT FAT @A

Question ID : 719399969
Status : Answered
Chosen Option : 4

Ane X 1.0 & 50 Hz
/210 Hz & 100 KHz
/<303 100 Hz
v 4 45 @ 55 Hz

Q.1
30 WA HFA wgfea #HeT &1 A=

g gl

Question ID : 719399939
Status : Not Answered
Chosen Option : --

v 2 gz am (DC) AT
A3 gegmEtas
X 4 ofyonfas

Y I F a7 gy F FEE w1 Ay
Ans X1 sz umr (DC) =T

& 9rar ST GFRar 2l

Question ID : 719399874
Status : Answered
Chosen Option : 2

A X FHETT ST AT §
X2 ggar g

% TIEE # g F Ty, SEesee # SR




vigear g
Xogqgargear g T gear &

Question ID : 719399855
Status : Answered
Chosen Option : 3

°3'; In a p-n-p transistor, the current carriers are:
Ans 3 1. acceptor ions

/X 2 free electrons
' 3. holes

/< 4 donor ions

Question ID : 719399985
Status : Answered
Chosen Option: 2

34

Ane X 1. gy dasT T ITGNT T
X 2 3% HHIX IOy #T AT F FAEET FEAT]
X 3 3% HTHIT 99y F gfeeT SreeT|

Q.1 o ZEy ¥ THR T ¥ T 9N 0T T T 4R F g J RewiE e # me W i 74w

v o 3% &7 a-FaEs (Raede) = gaafsa w3

Question ID : 719399903
Status : Answered
Chosen Option : 4

% U e e # @ R e dar 12
Ans ?(1#35

X2 T T

X 3 TH SE-TFE

v TF

Question ID : 719399860
Status : Answered
Chosen Option : 4

Ans 3 1. Centripetal mechanism
/< 2. Centrifugal mechanism

« 3. Voltage control mechanism

Q.1 Among the given options, which is NOT the method of speed control for a universal motor?
36




/< 4 Resistance method

Question ID : 719399961
Status : Answered
Chosen Option : 4

Q1 35 v g # & TEaw canr Tata G S g, o el F ant § T e sl o g

37 3gET T Sar 37

Are X1 e wefele e
X 2 da gfa-amtt fEew

X 3. gr vHielier Baw 3t v Avmadt ==
v o 2t gfa-anett fiam 3k v mewedt T

Question ID : 719399917
Status : Answered
Chosen Option : 4

1 . L. 1
38 In a DC generator, armature reaction is produced by:

Ans 3 1. jts field current

/< 2. field pole winding

?( 3. armature conductor

+ 4 load current in armature

Question ID : 719399899
Status : Answered
Chosen Option: 3

%o = AR TuE F, wge F i QT @ @er aiee?

Ans o 1. T AT W 40%
< 2 FTae AT & 60%
X 3 Ffaes AT & 75%

X 4 Fifaer AT #T 150%

Question ID : 719399918
Status : Not Answered
Chosen Option : --

Q1 il & ¥ BT 39907 1 390 Fa v U 7 # A & fow R e ¥

40

A X T #iT
X 2 T g JHel
X 3. FEHEET




v & T TEE TS FEol AL

Question ID : 719399937
Status : Answered
Chosen Option : 4

.1 - " . L 'r. -
?" Protection against dampness is provided in

Ans X 1. metal conduit wiring
/< 2. cleat wiring
/< 3. wooden casing and capping wiring

« 4 CTS sheathed wiring

Question ID : 719399919
Status : Not Answered
Chosen Option : --

42

Ans  of 1. at large firing angle

/< 2. at infinite firing angle

/< 3. independent of firing angle
/< 4 at small firing angle

Q.1 In a single-phase, semi-converter-controlled motor, the armature current becomes discontinuous:

Question ID : 719399991
Status : Not Answered
Chosen Option : --

e XK1 s amr A 3= Seear
X2 e arr #R e areear
X 3 e ar HR 39 deear
v 4 3= g 3 e deear

Q) rw TR B fase unr A F e arer FEeh #r srufdear & ae §2

Question ID : 719399948
Status : Answered
Chosen Option : 4

Ans (1. STTRAT

X 2 gfeder 1 araAT T
v 3 faferse gfeRer

X 4 gfeRrer

%%ﬁrﬁﬂwm#mm#ﬁmﬁﬂwﬁmmﬂﬁ e S g




Question ID : 719399864
Status : Answered
Chosen Option : 3

Q.1 21 art & gfeRr S@eT & 57 @9 W 25 31F (ohm) 3R AR F 3T @ W 6 AT (ohm) ¥l

S g w F SRR am
Ans 3110 ohm, 20 ohm

/< 2 20 ohm, 5 ohm
v 3 10 ohm, 15 ohm
X 4 5 ohm, 15 ohm

Question ID : 719399856
Status : Answered
Chosen Option : 3

Q1 naterial used for electric heater is

46
Ans o 1 nichrome

/< 2. china clay
/< 3. tungsten
5 4. copper

Question ID : 719399886
Status : Answered
Chosen Option : 1

% fw v Reeat § ¥ T9Y O 9R A TEAT S ugET Y

Ans X 1. 38
X215
X3 7
v 4 40

Question ID : 719399861
Status : Answered
Chosen Option : 4

Q. —
4; A push-pull amplifier:

Ans % 1. uses single transistor

/< 2. is the first stage of audio amplifier

+ 3 reduces even harmonics

/< 4 reduces odd harmonics in the output

Question ID : 719399994
Status : Not Answered
Chosen Option : --




391 AEeT & T & FROT S off fagga aiy $ e # e R gy & e @ ke

Ans 1. 50%
X 2 60%
v': 20%
X 4 10%

Question ID : 719399997
Status : Not Answered
Chosen Option : --

Q.‘l . . . . . 3
5o 10 an induction motor, the slip ring is made up of:
Ans 1. aluminium

+ 2. phosphor bronze

/< 3. carbon
/5 4. copper

Question ID : 719399955
Status : Answered
Chosen Option : 2




